Arithm.-Geom. Mittel

Rekursionsvorschrift
Sei ag > by > 0.
an+ bp
ap41 = 5 bni1 = v/ anbn (n e Np)
Pseudocode
n=20
while (an > bp +¢) {

an+b
apt1 = L 5 L bpi1 = v/ anbn
num 1 erhdhen

}

Programm-Fragment falsch!
a=al; b=b0;
while (a>b+eps) {

a = (atb)/2.0;

b = sqgrt (axb);




Eine andere lteration!

Rekursionsvorschrift
Sei ag > by > 0.

an+b
ant1 = % bni1 = v/a@ny1bn (n € Np)

Pseudocode
n=20
while (ap > by +¢) {

an+b
apn41 = L 5 L bpi1 = v/ any1bn

num 1 erhdhen
}

Programm-Fragment richtig!
a=al; b=bo0;
while (a>b+eps) {

a = (atb)/2.0;

b = sqgrt (axb);




Arithm.-Geom. Mittel

Rekursionsvorschrift
Seiay > by > 0.

a,+b
any = % bni1 = V/anbn (n € No)
Pseudocode
n=0
while (an > bp+¢) {

an+b
apt1 = % bni1 = v/ anbn
num 1 erhdhen

}

Programm-Fragment richtig!
a=al; b=b0;
while (a>b+eps) {

h = a;

a (a+tb) /2.0;

b sgrt (hxb) ;



